JANUARY 22, 2020 HEARINGS

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

ERIC HOLMES

ORDER

The Committee voted unanimously that ERIC HOLMES shall pay a civil penalty of \$400 per day for 24 days of activity for a total of \$9,600 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ERIC HOLMES to prevent them from performing work in violation. ERIC HOLMES shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

GENE HICKMAN A/K/A HOWARD GENE HICKMAN, D/B/A HGH DEVELOPMENT, LLC

ORDER

The Committee voted unanimously that GENE HICKMAN A/K/A HOWARD GENE HICKMAN, d/b/a HGH DEVELOPMENT, LLC shall pay a civil penalty of \$400 per day for 13 days of activity for a total of \$5,200 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against GENE HICKMAN A/K/A HOWARD GENE HICKMAN, d/b/a HGH DEVELOPMENT, LLC to prevent them from performing work in violation. GENE HICKMAN A/K/A HOWARD GENE HICKMAN, d/b/a HGH DEVELOPMENT, LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

SANDS FENCING, LLC

ORDER

The Committee voted unanimously that SANDS FENCING, LLC is guilty of misconduct for failing to disclose a felony on their renewal and for failure to pay taxes. The Committee voted that SANDS FENCING, LLC shall pay a civil penalty of \$1,000 for 2 counts of misconduct; they must continue to pay all state and federal taxes due and provide proof of that payment for the next 3 renewal periods; they must pay any amounts owed to the state of Arkansas for back taxes that remain unresolved and they must provide proof of such repayment for the next 3 renewal periods.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

RICK GOLDEN

ORDER

The Committee voted unanimously that the license of RICK GOLDEN is revoked for misconduct. RICK GOLDEN shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

ANSELMO GONZALEZ, D/B/A A & G GENERAL CONSTRUCTION

ORDER

The Committee voted unanimously that the license of ANSELMO GONZALEZ, d/b/a A & G GENERAL CONSTRUCTION is revoked for misconduct. ANSELMO GONZALEZ, d/b/a A & G GENERAL CONSTRUCTION shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

WORLD CLASS ROOFING & CONSTRUCTION, INC.

ORDER

The Committee voted unanimously that the license of WORLD CLASS ROOFING & CONSTRUCTION, INC. is revoked for misconduct. WORLD CLASS ROOFING & CONSTRUCTION, INC. shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

RHAD BUTLER CONSTRUCTION INC

ORDER

The Committee voted unanimously that RHAD BUTLER CONSTRUCTION INC shall pay a civil penalty of \$400 for 7 days of activity for a total of \$2,800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against RHAD BUTLER CONSTRUCTION INC to prevent them from performing work in violation. RHAD BUTLER CONSTRUCTION INC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

SPENCER MCMURTREY

ORDER

The Committee voted unanimously that SPENCER MCMURTREY shall pay a civil penalty of \$400 per day for 2 days of activity for a total of \$800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against SPENCER MCMURTREY to prevent them from performing work in violation. SPENCER MCMURTREY shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

ROBERT WALLEY, D/B/A THE IRON SHOP OF ARKANSAS

ORDER

The Committee voted unanimously that ROBERT WALLEY, d/b/a THE IRON SHOP OF ARKANSAS shall pay a civil penalty of \$400 per day for 38 days of activity for a total of \$15,200 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ROBERT WALLEY, d/b/a THE IRON SHOP OF ARKANSAS to prevent them from performing work in violation. ROBERT WALLEY, d/b/a THE IRON SHOP OF ARKANSAS shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

NICK'S CUSTOM FLOORS & MORE

ORDER

The Committee voted unanimously that NICK'S CUSTOM FLOORS & MORE shall pay a civil penalty of \$400 per day for 14 days of activity for a total of \$5,600 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against NICK'S CUSTOM FLOORS & MORE to prevent them from performing work in violation. NICK'S CUSTOM FLOORS & MORE shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

MIGUEL MORILLO

ORDER

The Committee voted unanimously that MIGUEL MORILLO shall pay a civil penalty of \$400 per day for 11 days of activity for a total of \$4,400 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against MIGUEL MORILLO to prevent them from performing work in violation. MIGUEL MORILLO shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

ROBERT DANIEL, D/B/A OZARKS HOME PRO

ORDER

The Committee voted unanimously that ROBERT DANIEL, d/b/a OZARKS HOME PRO shall pay a civil penalty of \$400 per day for 20 days of activity for a total of \$8,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ROBERT DANIEL, d/b/a OZARKS HOME PRO to prevent them from performing work in

violation. ROBERT DANIEL, d/b/a OZARKS HOME PRO shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

SETTLEMENT AGREEMENTS

\$800.00

39460 NICHOLAS CHARLES WITTY DBA - NICK WITTY REMODELING \$200.00 and a response within 10 days 32497 MICKEY FAIRCHILD DBA - MICK'S CONTRACTING \$200.00 and a response within 10 days 39222 UPPER ROOM CONSTRUCTION LLC \$200.00 46498 GARY DEPALMA DBA - NATIONWIDE EXTERIORS \$200.00 46848 "KRISTOPHER ""IAN"" KUMPE DBA - SOLID ROCK FENCING & CONSTRUCTION" \$200.00 46947 JOHNNY YOUNG DBA - JOHNNY'S ASPHALT & SEAL COATING \$200.00 MAINTENANCE

46949 DANNY ABBOTT \$200.00

46954 THE HOUSE STAGING COMPANY. LLC \$700.00

46740 CHRIS PLUMLEE DBA - PLUMLEE POOLS

\$7,200.00 reduced to \$0 if no further violations for 3 46826 KENNETH D KNIGHT

41665 JACKIE RISHER DBA - RISHER & SON HANDYMAN SVC \$10,000.00 reduced to \$600.00 if no further violations for 3 years, pay any judgment and pay this penalty as agreed